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-U_ = .{x.“ ;

Let A= {x er x<a}

‘B= (x : x is a prime number less
-~ than 5} and '

OR

x 1s an integer,

Y = x

|

. A={x:xeW,x<5},

B = {x :
60} @OEILY Mok

0<x <6} eowod,
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X 80) ald8n oy, |
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Oﬁ x <6 - a) A, B agomloueyes c0ogud djaio :
. a) Write 4, B in roster form. (1) : o “@@émé‘@* S (1) _
” - o b) (A-B)U(B-A) somys. (2)
b) Find (A-B)U{B-A4). (2) | - o S
= o - I ¢ (AUB)=A'NB wdwoems
c) Verily ;(AUB'} :AfﬂB!' (2)_? ; _ o@ﬂm @m’lcscroow’loe@gcﬁs.,. (2)
- S _ . | %P 43x4B :
. a) Find the domain of the o) f(x)- N g™
functj_gn i{(x) :'_xg +§x+i - (2) g | O@cﬁ}(ﬂmqﬁ)f@-ﬂ]mwﬁio CE}DQGTT)&&.I (2)
. o X ?C"' — ) b) f(x)mlirl] QQ‘)(TT) apeeoTlon
b) Sketch the graph of the O - : R
o L, L T 00alr QUOQIEE)Es. (2)
- fanetion f{x)=he1]. @ | o A={235,B=(469%
c) Consider A = {1, 2, 3, 5} and aer. R ={(x, y) : x — ¥y agana
B= {4, 6, 9}. Define a relation on cmomg . E-Ay - B}--a@(‘m@‘
Hfi:A—>B by R: ) ix-y A odddalomge B @ﬂ@_l@”cem&@g
I 18 o Odd? X EA& yEB} . 63(’0& Qfllmbmgﬁ @@@)Ofﬁ% | |
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~a) Which one of -the' foﬂo'wing aj) @OOF a&oggmﬂmﬂmmﬁmmﬁ
- values of Sin x is incorrect? __ Sin x o afle mggomfﬁm Q3@ ?
) 0 i) 1/2 . D 0 1) 1/2
i) 3 v 1 (1)_5 1i1) 3 iv) 1 (1)
| ' (o )
b) va%’ﬂlat b) Cos ” ix +C09(£—x =2 Cosx
- ( \C T 50 \4 )
08, —+x |+Cos| ——x 0sX B - | 2
c) A tree Tbl"eak's due to a storm 3 C_) S %086)@051% .%Wm _ |
and the broken part bends so BOWo mm’laﬂfmo DU @M
- that the top of the tree - @owld 30 @ﬁomﬁmﬁ
touches the ground making - Waldwleoymy. aogiiaigle
~an angle 30° with it. The - oimie m&d BOWo @O
 distance between the foot of fm“m'(%m“’igzg Cenfloyy 8 algd
. the tree to the pomt where @aﬁaﬂgmﬂgggm” Q@WO(&%. |
“the top touches the ground is ] mmm’]m@ DO HEMSHOBOE. (3)
8 m. Fmd the helght Of the p_——
tree. | (3) % _
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a)

- 0OR _
Sin 2259 = ... -
R -
111)?:/5. 1V) 5 (1)

b

- general solutions of

- Tan

Find the principal and

/3

2

Prove that
(A EB\..
\ 2 )

a-b
a+b

4. A stiate;ment p(n) for 'a-"hatural‘

number n 1S

p(n)—-—+ % e t—=1

a)

b)

given by
1,11, ' 1 1.

0 48" o o

Verify that p(l) 1s true. - (1-) -

By assuming that p(k) 1s true
for a natural number %, show

“that p(k + 1} 1s true. - (3) | -

Represent the complex'

number ]+«Jr§ L in ‘i’he polar'

}form o 2|

Find the Squa}:’e mot of the

~.complex number -7 — 24:. (3)

The interval representing

the solution =~ of the

inequality 3x-1>5,xeR

5

) [5w). i)

1ii) [3,00)

Solve the system of

' mequahhes gmphmally
x + 2y <8, :
x>0, v=20. _ . _(4)-

2x+y£8
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Findr, if5x 4P =6x5P__

Kind the :mumbe? of 8-1@%@?

| arfangementa- that can be
- made from the letters of the
~word DAUGHTER so that all

vowels do not occur together.

OR

If "C, ="C,, Lmd ﬁc

- How many Way%'can a team
of 5 persons be selected out
of a group of 4 men and 7
women, 1f the team has at
least one man and one
S woman?

The number' @f terms in the

1\2?1

v“—-ﬂ—n

X )

1) n+tl i) n

i’ii} 2?&1 W) 2 n+a

Fmd & if ‘é:he 17" term and
18% term of the expansion of

(2 + @) are equal

(1)

(2)

3)

@)
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(3)
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b’)”Inser‘t. __
B between 1 and 256 so that the |
@

a) The Srd;t-erm. of the Sequence

- whose n™ termis | = | is .

4

N 3
i) 4 ii)g

| )18 ) ;Si
I--lll 3 | lV 16

‘three numbers

resultmg Sequeme 1S a G. P

c) _a_f m'h teym of an A P. 1s
nth term is m Where m#n

fmd p"“’l term

OR

a) The 6th_termao.f the Séﬁjﬁencé

1
_ 2
) B8 y 1
SIS 3 ¥ U scul iV
9 __ 3

-b)_ Find the sum to infinity of

_ 1 1
the sequence 1, o0 g

o) Ifa, b, c are in A.P. and

_Mx 1/ 1/z
_-.a_x:b.y:—_(jx

, prove that x,
v, z are in A.P. -

and: |
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@ |
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10.

11.

12,

" b) Reduce -

 the

| a)- Find the eQuatiOn of the line

passing through the points

the

ng + ¥ mgzginte nOFmal |
@y

form.

¢) If the angle between two

equation

N 10. | a) (3, —2), ~1, 4) a@n’r‘i’} e l03) 88

(@

lines is 7/4 and slope of one

| lof the lines is 72, find the

slope of the other line.

a) Directrix of the Ipaﬁifabol_ﬁa'

x°=—4aqy 18 ......

) x+a=0 i) x—-a=0

i) y—a=0 iv) y+a=0

b)'Find the equation of the

~ ellipse WhOsé length of the

major axis is 20 and foct are

a) A 'poiht-_.‘in the XZ pllane.

18 ... reessenaes
) (L1, i) (20,3

 b) Show that the _-p'oints .
L AQ1, 2, 3), B(-1, -2, -1)

. - C (2, 3, 2)8,11(1 D (4, 7, 6) aré

- vertices of a

| -paraﬂéla gram;
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) x+a=0 i) x-a=0
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a) XZ woeaecsleo émg m‘ma&

iii) (2,3,0) iv) (-1, 2, 3)
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i) @LD i) 203

(1)

b) AQ1, 2, 3), B(-1, -2, —1)

- C@ 3,2, D4, 7, 6) agard
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- 13. a) Match the foHowing D

~ b) Find the derivative of Tanx |
' (3) |

using the first principle.

£

. OR
a) Match"thé following

- (8)

L 2
b) If f(x):‘l()() gg T F— 4+ X +1,

provle thaf ‘f’(l)zﬁlQOf’(O) .

'1._4.- a) Write the negation of the

| | = . . ,
- statement “v7 is rational” -

b) Prove that “\/7 is irrational”

K-25

by - the
~ contradiction.

method of

3) |

3) |

b) Tanx e G)w'ohmg“]m” aagg};“
R lB  patewomiaf

elT=TEN

a) BG4lI0joals] .G?Q:I@Jcﬁﬁ)gc&: B

(3)

| 14, a) “.f71s rational” ag)m Ln;lm.j;@o? '
Y

AUDRYOS ODENDHUD ag) eIy, (1)
b) esoedaleayd 208
. gaeomlaey /7 @&l &

cr_vasu;” BOOMM O®E]QNH6)6. 3)

Turn Over

13. _a)_ csa_jmgpo_ls"l_ GoIQBO M - (3)

| aeamgo_ﬂs'lae@&cea._ )

!



15 a) If X 1S the mean and o is the

b)

B |

' dlStle_UthH

i) —x100

VI

iil) 62

Standard dewatmn of a

coefficient of Vdrmtmn 1S ....

) __;£><100 iy 2

o #
vy

Fihd the étandard deviation
~for the following data :

The number of outcomes in

the Sampie space of the
rand(}m

thmwingtwb dice 18 ...
i) 6
1) 12

TWG students,

_ that Anil will qualify the

o exammatien.

- vv111

exammatwn 1s 0.05 and that N

'exammatlen is 0.10. The
probability that both will
N quahfy the exammatwn is
002 . o
" Find the pmbabﬂlty that both
the -

3

not qualify-

'_expemme-nt of

~ Anil and

~ Ashima appeared' in an

|

w |

* examination. The probability

' 'Ashlma will qualify the
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